RTI Geometry Unit 1 < Segments and Transformations Review
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Directions: All work must be shown to receive full credit.
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2 Descr'l e the figure as a point, line, segment, or ray.
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For questions 3-8, refer to the number line below to find each measure.
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9) Find the '{alue of the varlableSan f Sis between R and 7. Let RS= 16, ST = 2x,
RT = 5x + 10. You must start this problem with a geometry step. Show all of your work.
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10) Find the & alue of x ndf@f R is between S and 7. SR = 3x, RT =2x + 1, ST = 6x — 1. You must start
this problem with a geometry step. Show all of your work.

323X . ax+|
S —

S A T
\ )
b X ~\

a@ % RT =51 . X=2
Z2x+ 2x+l =X\ R = o

DX +l=lx=)
+\ +\

S5x+L =bx
-5X - X

[a = x|

Po 2



11) Find the value of x and ST using the figure to the right. You must " 21cm |
start this problem with a geometry step. Show all of your work. !

ST’\‘T\)'—'SU S2x+1T3x-5 U

Dx+l 4+3x-H=a\
C LY

571—1_\:2_\ AT = AX+]
vy +4 3T=3(5) +\ X=5

S X =ab ST=1\ ST=\

Sx=adS
DX =23
) 5

12) Find x and the measure of JK if K is the midpoint of JL. You must start this problem with a
geometry step. Show all of your work.
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13) Find XY if Y is the midpoint of XZ, X¥=2x+3 and ¥Z = 6 - 4x. You must start this problem with a
geometry step. Show all of your work.
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Find the distance, midpoint, and slope of each segment. You must show work, simplify all radicals

and fractions!
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14) G(-10, 2), H( -7, 6)
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15)3(4, 2), K(8, -6)
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16) Draw FE®DC We * 17) Draw WX = _};-Z_
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18) Draw < QRS and < QRT are a linear pair 19) Draw AB is a L bisector of ST
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CONSTRUCTIONS OF TRANSFORMATIONS —

2 1. FINISH THE CONSTRUCTION

NAME THE TYPE OF TRANSFORMATION

|

22. FINISH THE CONSTRUCTION.

NAME THE TYPE OF TRANSFORMATION

0(‘2

Draw in the line of reflection for 23 through 24.
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Graph the transformation for 25 through 32. If it is a translation, write the rule for the translation.- {\\ Ve C,+0(
ond p+ foran

25.  translation: 2 units left and 1 unit down 26. Reflection across the x-axis
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27.  rotation 90° counterclockwise about the 8.  rotation 90° clockwise about the origin
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31. reflection across x = 1 32.  translation: 5 units left and 2 units down
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33. In a basketball game, Roger is standing at position 4 and he bounces the ball to Edwin standing at position
B. Cops=the-diaprameand sketch the path the ball must travel after being bounced to Edwin by Roger.

A

Floor

34. Find the slopes of lines. Simplify all fractions, if possible.

Y YR | XY, Ko Vo
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S\QOQ. = § ~3‘+-LD T 5 M = __7:_____. Slope of ST: 5
)(7__," Xy =
Slope of XY N

-3%-2, =5

Sope XN = 577

Vo, ¥



35. The composite of reflections over two parallel
lines resultsin a __tya nS\oXA 0N

From 1 to 2 the transformation performed is : ?\e{ \ﬁ(jﬁ(}ﬁ

From 2 to 3 the transformation performed is : @\e-@\e(ﬁ\' 0N\
From 1 to 3 the transformation performed is : l(Y"O\N)\CKSk\O(M

36. The composite of reflections over two intersecting lines results in a ?\M (L;b 6(\)

This is a composite of transformations. {

From 1 to 2 the transformation performed is : Q\Q“C \f?()&"\ C)(l
From 2 to 3 the transformation performed is : M\ﬁ(jh@ﬂ

From 1 to 3 the transformation performed is : Q\MM\O{\
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ES Summer Work and Middle School Review:

1€ Vou ore Stagling . look. tn Swamur work, geoale, Book , LOT3 of
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Use the figure to answer questions 1-4.

1)Name all angles that have B as a vertex.

£5,<, <7, < B1BA, LABD, <DBe,

< & 6 =

2)Name a pair of supplementary angles. ( luu_ax PMB
<l +< =180

< 34<4=|¥0

3)Name a pair of vertical angles
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4)Name a linear pair. —_
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5) Name all the different ways to name line AB. ; '
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6) Classify all that apply: adjacent, vertical, linear pairs, complementary, supplementary, right angle and/or
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Transformations — Day

Name: Hour:

= quations and Slopcs of Parallel and Fcrpcndicular | ines

Fara“cl ]’13VC same SlOPCS

Fcrpcndicular have oPPositc rcciProcal sloPcs

Jetermine whether MN and RS ave parallel, perpendicular, or neither.
1. M(0, 3), N(2, 4), R(2, 1), S(8, 4) 2. M(-1, 3), N(0, 5), R(2, 1), 5(6, —1)
Must Show -

\
S@*S C}-’% \)\)D(\';— Slope MN: é Slope MN:
%-W eacn .7/ Slope RS: _\/Z: Slope RS: / vl

wae e Slope formudal!

. 7/1‘"7/\

_— ———— e
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X2~ X,
3. M(—1, 3), N(4, 4), R(3, 1), 5(—2, 2) 4. M(0, —3), N(—2, =T}, R(2, 1), 5(0, —3)
\
Slope MN: ﬁ Slope MN: _2_/
e }
Slope RS: / S Slope RS: 2)

Find the slope of MN and the slope of any line perpendicular to MN.

7. M(2, —4), N(—-2, —1) 8. M(1, 3), N(—1, 5)
-3
Slope of MN : /j‘ ‘ Slope of MN : :_\
U
1 slope: / 3 ., L slope: l
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RTI Geometry Unit 1 j’}Segments and Transformations Review

Hour

Directions: All work must be shown to receive full credit.

1) Simplify the radical: V192

This i DLUE.:
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2) Describe the figure as a point, line, segment, or ray.
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For questions 3-8, refer to the number line below to find each measure.
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AS)Q ﬁow Se\d: 5@{3 oure, YNese mitpoints ? “1r Yes, Set
= no' Add Hem wo ond Set = 10 the \argest length.

9) Find the Value of the Varlable and ST if Sis between R and 7. Let RS= 16, ST = 2x,
RT = 5x + 10. You must start this problem with a geometry step. Show all of your work.

10) Find the value of x and SR if R is between S and 7. SR = 3x, RT = 2x + 1, ST = 6x — 1. You must start
this problem with a geometry step. Show all of your work.
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11) Find the value of x and ST using the figure to the right. You must 21cm

start this problem with a geometry step. Show all of your work.

OX + 1 T 3X-5

T

‘ G ol

12) Find x and the measure of JK if K is the midpoint of JL. You must start this problem with a
geometry step. Show all of your work.
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13) Find XY if Y is the midpoint of XZ, XV=2x+3 and ¥Z = 6 - 4x. You must start this problem with a
geometry step. Show all of your work.

1

Find the distance, midpoint, and slope of each segment. You must show work, simplify all radicals
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15)J(4, 2), K(8, -6)

Distance:

Midpoint:

Slope:

16) Draw FE 1 DC 17) Draw ﬁ?ﬁ? e ﬁ

18) Draw < QRS and < QRT are a linear pair 19) Draw 4B is a L bisector of ST

20) Draw ET is an angle bisector of ZREO
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CONSTRUCTIONS OF TRANSFORMATIONS —

21. FINISH THE CONSTRUCTION

NAME THE TYPE. OF TRANSFORMATION

22. FINISH THE CONSTRUCTION.

NAME THE TYPE OF TRANSFORMATION
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Draw in the line of reflection for 23 through 24.
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Graph the transformation for 25 through 32. If it is a translation, write the rule for the translation.- inve o6

_ ~ond p4 foran
25. translation: 2 units left and 1 unit down 26. Reflection across the x-axis
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27. rotation 90° counterclockwise about the 78 rotation 90° clockwise about the origin
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29. rotation 180° about the origin 30. reflection across y =2
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31. reflection across x = 1 32. translation: 5 units left and 2 units down

: Y R
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A
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33.Ina basketball game Roger is standing at position 4 and he bounces the ball to Edwin standing at position
sp=thedimgransand sketch the path the ball must travel after being bounced to Edwin by Roger.

Floor

34. Find the slopes of lines. Simplify all fractions, if possible.
5(6,5), T(-4,3) X(-4,2), Y(-3,-3)
Slope of ST:

Slope of XY
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35. The composite of reflections over two parallel

lines results in a

From 1 to 2 the transformation performed is :

From 2 to 3 the transformation performed is

From 1 to 3 the transformation performed is:

36. The composite of reflections over two intersecting lines results in a

This is a composite of transformations.

From 1 to 2 the transformation performed is :

From 2 to 3 the transformation performed is
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From 1 to 3 the transformation performed is :
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37. Reflect the figure over the given line.

38. Rotate the figure 110 degrees counterclockwise around point R
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ES Summer Work and Middle School Review:

I® You ore Shuggling , look. tn Swmaur work, goegic, Book, L2T3 of
! "4 3)?&&5 +o £inct Help for -nis REVIEW maderiad.

Use the figure to answer questions 1-4.

1)Name all angles that have B as a vertex.

2)Name a pair of supplementary angles.

3)Name a pair of vertical angles.

4)Name a linear pair.
5) Name all the different ways to name line 4B.

6) Classify all that apply: adjacent, vertical, linear pairs, complementary, supplementary, right angle and/or
congruent.
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Transformations — Day

Name: Hour:

E_c!uations and Slopcs of Parallel and Fcrpcndicular | ines

Fara”el havc same SIOPCS

Fchcndicular have oPPositc reciProcal s]oPes

™ ¥ =y E % zod L] " ES
Jetermine whether MN and RS ave parallel, perpendicular, or neither.

1. M(0, 3), N(2, 4), R(2, 1), S(8, 4) 2, M(—1, 3), N(0, 5), R(2, 1}, 5(6, —1)
Slope MN: Slope MN: _____
Slope RS: Slope RS:
3. M(—1, 3), Ni4, 4), R(3, 1), S(—2, 2) 4, M(0, —3), N(—2, =7}, R(2, 1), 50, —3)
Slope MN: ___ Slope MN:
Slope RS: Slope RS:

Find the slope of MN and the slope of any line perpendicular to MN,

7. M(2, —4), N(—-2, —-1) 8. M1, 3), N(—1,5)
Slope of MN : Slope of MN :
1 slope: | 1 slope:
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